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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered

in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9, Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks,
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Mention the raw materials required for photosynthesis.

5 ferga wmr 1 SI g W wfoar fafiag )

Define the SI unit of current.
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Name the two main combustible components of biogas.
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Metal oxides are basic in nature. But some metal oxides show both acidic as well as basic
behaviour. What are these oxides called? Name one such oxide and write its reacton with an
acid and a base.
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When iron rod is kept dipped in copper sulphate solution for some time, a brown coating is
formed on the iron rod. What change will be observed in the colour of the solution ? Also

write chemical equation for the reaction involved.
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Name the plant hormones responsible for the following functions :

() growth of the stem

(i)  promotes cell division G

(i)  wilting of leaves W

(iv) inhibits growth
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(1) KGO, ———— KC1+0O,
(i)  Fedt HO — Fe,0,+H,

Balance the following chemical equations. Write the symbols of physical states of all the ;-.‘:
reactants and the products ’

(i) (fk&iﬁj S KOO,
(i) Pe+HO —FeO,+H,
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Explair the following giving chemical equation in each case:

(M) WV’ N_,(-“_:"'[ WeeH €0 5.~ INAS sacn ¥ WaO
(ii) W“Shh‘_ﬁ soda is heated. Nty 0y~ Na D4 L
(i) Gypsum! is heated at 373K

! Na HCO 4 5 Moy Ebig
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Write balanced chemical equation for the reaction of :
(@  Aluminium when heated in air. Write the name of the product.

(b)  lron with steam and name the products obtained.

@ Calcium with cold water. Why does calcium start floating in water ?
}:}A__ ". 0} -y
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i) K, CO3+HCI> , e

&P Znt P10 = 20§ Hy
(i) CuQ +HClI > e

(iii) Fe + HCl =

Complete and balance the following chemical equations :

(i) KoCO3 + HCl = .
C@, +

@ CuO + HCl>
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State the role of the following in the process of respiration in humans :

(@)  nasal cavity () diophragm (i)  alveols
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Name the hormone required for the following. Also mention the name of endocrine gland
from which that hormone is secreted :

(1) Lowering of blood glucose.
(i)  Development of moustache and beard in human males.

7 {@) Metabolism of carbohydrates, fats and proteins.

U3~ s e e o aed ol sgi - umi S wiftea wif) 3
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(i) SRR (iv) wAfeR
Draw a neat diagram of human brain and label on it the following parts :
()  Midbrain (i)  Pituitary gland
(iliy  Cerebellum (iv)  Cerebrum
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(a)  Define one Volt

(b)  State the relation between work done,charge and potential difference between two

ends in an electric circuit. How much work is done in moving a charge of 3 C across two

points having potential difference 15V ?



o P wO 5 R B PRl s % T iR swm g o o & fe)
sfigeT wifay |

Design an activity to demonstrate that a bar magnet has a magnetic field aronnd it.

J6 sy seera i ek R e AR fy o frat woswen @ 3
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(i) W w1 aftyor ww fram
State the purpose for which the following rules are used :
(i) Right hand thumb rule

(i1) Fleming’s left hand rule

(iii)  Fleming's right hand rule
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You have been appointed as the “eco club incharge’ of your school. You have to take care of
the maintenance and conservation of the environment.

() Suggest any three ways by which you will carryon your duties.

(i)  Write any three qualities that you would like your school mates to develop for

environment conservation.

35 Wmmwmwmmm.mmgmmmmi
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State the principle of working of ©ccan thermal enerpy conversion plant. Explain how the

plant works? Write one essential condition for it to operate properly. ,
Fou
187 A T e s e wlfeg e wyAl W s forfia 5
S

Byl =
bl = o ._..'l"
L ‘-"1 &
a'.‘g ::I‘
~tac — oS~ ) E
AL R o 1 £ O
" - A 4
-~ .‘!‘;_'i' ‘z—i;:"!
2 4 / &
y

b

I
Chase excellence

@)
(i) ot # e 3R Yy TR |
(i) wmﬁaﬁaﬂq'y'mwwﬂmﬁﬁhﬁﬁwx*%maﬁwﬁﬁ

TR 7
(v) T a0 WiEYw mwﬁﬁﬁ%wwﬁ@ﬁa@-mﬁmaﬁmwm
et g fafae

Study the following diagram and answer the questions that follow :
——Plastic Mug

NI Y

P Cathode
Anode
Key

(i) What does this activity indicate ?

(i)  Identify the's’ and 'y' in the test tubes.

(i)  Why is the amount of 'y' collected in one of the test tubes is double of the amount of '’
collected in the other ?

@ Write balanced chemical equation of the reaction that takes place when electric current
is passed on closing the key.

}D/(a) znﬁwmﬁwmmmmﬁaﬁaﬁl 1 Bre & TR T T T WA S W e S

page 7 of 16



é&f 4 \’L!‘sj‘
:'-u" A

\

JSUNIL TUTORIAL

]
Y ad & |

& Chase Excellence
&7 To¥ wWE T Frare AT TER GRS 6 e
2 3 et
T fie pH TRads 6T TR S0 89 9 FRI 2 Q farg waw 3 s w2
(b) ? P |
© i i R g oned pH w2 feel Rerem ) weEm @ v f
C

fiFe Yo e 7a & T ) pH 1 T R G 82

'hat s when there is an excess
(@) Name the acid produced in our stomach. What happens when there is an exc
T 5
secretion of acid in the stomach ? How can its effect be cured ?

(b)  Explain how the pH change is the cause of tooth decay 2 How it can be prevented ?

For the growth of plants what is the ideal pH of soil ? Explain with the help of an
activity how will you test the pH of a sample of soil collected from your locality ?
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(@  Draw a schematic flow chart representing double circulation of blood in human heart.
(b)  Why do ventricles have thicker muscular walls than the atria ? State the role of valves
located between atria and ventricles.

227 mmmmnwmﬁéw%mwmmxmfmmwﬂﬁmm
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State Ohm’s law. Write the necessary condition for its validity. How is this_law_verified
experimentally ? What will be the nature of graph between potential difference and current
tor a conductor ? Name the physical quantity that can be determined from this graph.

28w fr @ R ¥ I T A T el e e R v R fga sveel @1 vl
A T G WO w70 B ¢ I Wt 9 O e @) Wy v ¥ & iy
Name the safety device used in domestic electric circuit. Explain how it provides safe

homes while working with electrical
in a domestic circuit.

ty In our
appliances. List five precautions that should be observed
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series. Why ?

(b)
‘/6 We connect electrical devices in_parallel with the battery instead of connecting, them in
'l

An electric oven connected to a 270 V line has two resistance coils A and B, each of 20
Q resistance, which may be used separately, in series, or in parallel. What are the

currents in the three cases ? L pal- y
A A —k
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Test tube A contains dil. solution of ethanoic acid and test tube B contains sodium bicarbonate

solution. The colours seen in pH paper dippedinAand Bare:

< (a) orange, blue (b) orange, green

(c) blue, orange (d) green, blue

L

e BTl 3 Firet ferer SR e § ST pH A = f&an ot 3 TR T & e H 1

{ et pH T T Ak B2
(a) @3 NaOH for (b) TIHC
(€ w3 EfEmm wREER fae (d) 3 CHaCOOH faema

Four students took the following samples of solution in the laboratoary and fi

which of the samples of equal concentrati

(@) ¢ dilute NaOH solution

()  dilute HCl //-\
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() dilute sodium bicarbonate solution A

(d) dilute CH3 COOH golution
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Four students P, Q, R and S studied the chemical reactions between zinc metal and dil
hydrochloric acid. They recorded their observation as given in the table :

Student | Observations
Colour of the gas | Smell of the gas | Combustibility test
liberated liberated of the gas
P Brown Like rotten egg Burns with pop
sound
Q Colourless Odourless Burns with pop
sound
|
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Odourless Does not burm

Colourless Pungent smell

The right set of observations is that of student.

@ P ® Q@ O Ry S
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Few zinc granules are placed in four different solutions as shown below, Decolourisation will

be observed in:

8 B i - 7] e ]

M2(504_)3 ZI‘ISO4 CHSO4 FESO4
(A) (B) QO ©)

(a) (A) and (B) v (b) (C) and (D)

(© (A)and(C) d (B)and(D)

st % = i A, B, C, D g 3 gt < foe fopgn e fed g AL A 4
et 1 S T s faerm & @ TR @ T for Al A 9 aRedE A g A E
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Rinku added aluminium pieces in four test tubes A, B, C, D containing solutions as shown in
figure. He observed decolourisation _in two lest tubes. In which test tube was the change

observed 7

ZnSOy §_E§f§f§ — Aly(SO0)3 |::iii- CuSO, FeSO,

solution 7 +in./ solution \gamy solution solution
(A) (B) ©

(a) Aand C : (b) Aand B

(¢ BandC o(d) CandD

Gf Rt S SvieEn waeE QA ekt 3 < et Shee o € :
(@)  Ruy % e i H SRR
(b) T s ¥ ot % o e FFa A
()  wheder % ogehAg |
(@ R fRgmd AR =

a Same in every part of the circui A T ea Q ;
( ) Iy p ircuit | p‘ /1 |\;‘m} @ 2\

(b)  Sum of the voltage drop across each resistor

Page 12 of 16 7 "N _ 5 %.



’(C) Bl pmporﬁonal to the resistance A .

None of these

(d)

ﬁﬁaﬁmm@%ﬁmﬁﬂmﬁm-vw
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While performing the experiment to find equivalent rei
by making a circuit as shown above, Reena measured reading of voltmeter

potential differences between P and Q she should find the reading to be:
@ 2V () 4V g 6V d 8V

stance of a combination of resistance
V' which gives

/m%mﬁﬁmﬁﬁﬂwﬁﬁnwmaﬁ?ﬁ%?
(a) e SRS (b) T
(¢ sitdioe & (a) 3 ()
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t, what else is necessary for photosynthesis ? / | \

Other than ligh
(b) Water

(a) Carbon dioxide
(c) Oxygen ,(d)  Both (a) and (b)

amﬁ%umwazawmgqmaﬁwmﬁ*ﬁw

33/ e i A CO, SR B 8
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for = fx o ferx A feamn T R Qe sg A aE

SKOH

(a) St TETet ¥ KOH feram woras & v =ifed ik et § Sigid g0
(b) o <t H S =fed 3R wemes A KOH faerr |

(© KOH Fifera Geirer 1 QT =1feq e o1l e} Tt |

(d) O TeETe § KOH forerm v =fed qen it & w1 |

Taha, while setting up the experiment to show that ‘CO, is evolved during respiration’
committed some errors, as shown in the figure below. The change in the set up that will give

correct results is :

===l KOH

KOH solution should be taken in the small test tube inside the flask and germinating

(2)

seeds in the beaker.

(b)  Water should be taken in the beaker and KOH solution in the flask.

()  KOH solution should be taken in the flask and water should be taken in the small test
tube.
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/
H solution should be taken in the small test tube and water in the beaker. .
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In alaboratory to study :
()  combination reaction
(i)  decomposition reaction and

(iii)  double displacement reaction. ' C-&i“‘ o

Following chemicals are available in solid form Calcium oxide, Ferrous sulphate,
[Barium chlorid;a,rSodium sulphate. Mention which chemicals will be used in solid form and

which chem%_mye used in aqueous form.

as, -
5 e e () F Rl F e fmi (v) $ s vart am () R ek s s 2

& war A 3y a3 w99 a9 = ae ¥ ® S @ e F F Q) wd fawey g
@) e v A vt & sl

() e Y e aftafio @ e

(i) Wiy 1 AW wiEf 8 s

(iv)  wfeiess w < s

Inan experiment, to study the dependence of potential difference (V) on the electric current (1)
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it is on . thene (select bwo correct options)
- ¢ the circuit is on for long time, then (st ; _
acorss a conductor (msislor), if
from the following :

@) Zero error of an ammeter W ill be changed.

(i)  Zeroerrorofa voltmeter will be changed.

(i) Valueofa resistance will be changed.

(i  Resistor will be heated.
%ﬂ%mﬁmm%iﬁmﬁﬂmaﬁ 2

36 ﬁﬁ-mwaﬂmﬁrqmﬁ%ﬁvﬁaﬁm
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ide under hi
Name the components which you will observe when you focus the stomata sli gh

iective of a microscope.
power obj i‘ p

-0000000-

JSUNIL TUTORIAL

Chase Excellence

l'nué 15_n_f 16



